Steps:
Step1: check the negative values in S066.
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Client |Stat(s) .source|Version|Cred contr.area|Credit account |Month |Date  |Week |Period |Fi.Year Variant |Admin.data|Currency|Open orders |
C|108 0ee 2000 0001007432 200968 |00/00/0000|000000 |000000 0000000000 | CAD 0.02-
| 108 0ee 2000 0001007432 201208 |00/00/0000|000000 |000000 0000000000 | CAD 21,948 .20-





Check the Customer Credit  FD32:
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Customer 1667432 'SPORTS CENTRE
Credit control area 12000 NEC_US - Credit Control Area - CAD
Currency cAD

= Open sales value.

it 76 000G | Qeenorders 113.548.85
oo 165 655 33| Open delvery 18,189.57
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Execute simulation report: RVKRED88
[image: image3.png]SD: Reorganization of Credit Values after Update Errors

& al=w | =5 e ) |7 (2 [0

CCAr| Cred_acct | Curr | Sales Doc | DocCa] Date] Week | Month [= Open order[=_Open del[= Open bill

2000 1007432 | CAD 128500 |C 000 10,068.64. 0.00
2000 1007432 |CAD 207209 |C 000 | 813142 0.00
2000 1007432 | CAD 1181862 |C 012013 1,399.98 0.00 0.00
2000 1007432 |CAD 1181863 |C 032013 2,199.42 0.00 0.00
2000 1007432 |CAD 1182183 |C 0172013 10,405.29 0.00 0.00
2000 1007432 |CAD 1182203 |C 0212013 5,882.47 0.00 0.00
2000 1007432 |CAD 1182206 |C 012013 4,685.03 0.00 0.00
2000 1007432 |CAD 1312809 |C 0172013 10,926.12 0.00 0.00

2000 1007432 & CAD - 3549801 « 18,190.06 « 0.0





Execute the credit correction report: RVKRED88
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